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1. A3y ASCllcode » 20 & & & 184 4 (bits) R & 7~ ?
(A).4 (B).8 (C).16 (D).32 (E).64

2. THBMABF, 154, BBENLAH —BUABFHRTFTALS L ?
(A). 11100101 (B). 10011110 (C). 10111010 (D). 10011010 (E). 11011010

3. EAG M%) Intel P4 1.4GHz &) 1.4GHz & 45 CPU 844+ B ik & 7
(A)stHRE B).AREE CO).FHEANRE D)eRBRE E)RREE

4. TERR—ERXIHALE?
(A).Track ball (B).Touch screen (C).Scanner (D).Printer (E).Mouse

S. TERM—BEARARATHHEMKRELE? |
(A)MO (B).CD-ROM (C).Hard Disk (D).Tape (E).Flash Disk

6. °F 3]"F—148 7R & von Neumann machine % # &7 7t £+ (components) ?

(A).Memory unit (B).Operating qystem unit  (C). Arithmetic/logic unit  (D).Input
unit (E).Output unit

7. Internet —EEH A — TS F AWK B BRI FTHEGERER?
(A)FTP (B).SNA (C)HTTP (D)IPX (E).TCP/IP

8. EhkW3s & &y 3 5 ) B B (node)fo b 3 (link) i sbi & M & 0 F @A — 1R £ — 4
BB X 7
(A)Router (B).PDA (C).Printer (D).Flashdisk (E).Smart Phone

0. THAWRHNTHEER U FAEEMET?
(A).Hz (B).MIPS (C)bps (D).Baud rate (E).access time

10 ErRERARE h oy R AR R ?
(A)bit (B).dpi (C).pixel (D).bps (E).cell

1NERBRORREMTHA?
(A).frame (B).widget (C).bit (D).dot (E).hz

12.F @ — 18 R R A 08 04 0 %5 7
(A).bridge (B)hub (C).multiplexer (D).router (E).switch

3.7 @ — R 2RK MAWWW)IE S0 R85 % 2
(AYNTP (B).SMTP (C)FTP (D).TCP (E).HTTP

14.F @7 — @M% 8 25 & B R AR TR @ o IE kB E M 0
(A)hub (B).switch (C).router (D).gateway (E).firewall
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LS. F 0 — {8 4835 45 35 451 AR 38 A 1A 438 035 SR04 R 00 A8 9K TP it 2
(A).Proxy server (B).DNS (C).FTPserver (D).Web server (E).Mail server

BHA FRASHEEARBB LS LRGN ERHENTN £ En
HME—BERESA—R H—M29  REH 04+ L4430 0.5 5 < (20 4)

26. B —RA > Wl T

17.
18.
19.
20.
21,
22.
23.
24.
25,

16. RAM
ROM
Pixels
MPEG
MP3
JPEG
C++
Java
WAN
e-mail

a. video codec

b. assembly language
c. protocol

d. read-only

e. Audio format

f. topology

g. computer graphics
h. applet

1. read-write

J. NNTP

k. object-oriented

1. SMTP

m. resolution

n. Wireless

0. Internet

1x 1= 1 4x 1= 4 7x 1= 7
1x 2= 2 4x 2= 8 7x 2=14
1x 3= 3 4x 3=12 7x 3=21
1x 4= 4 4xX 4=16 7x 4=28
1x 5= 5 4x 5=20 7X 5=35
1x 6= 6 4X 6=24 Tx 6=42
Ix 7= 7 4x 7=28 Tx 7=49
1x 8= 8 43 8=32 7x 8=56
1x 9= 9 4xX 9=36 77X 9=63
2X 1= 2 5x 1= § 8x 1= 8
2X 2= 4 5x 2=10 8x 2=16
2X 3= 6 5x 3=15 8x 3=24
2X 4= 8 5X 4=20 8X 4=32
2x 5=10 Ex 5=25 8x 5=40
2X 6=12 5% 6=30 8x 6=48
2X 7=14 bx 7=35 B8x 7=56
2x 8=16 Ex 8=40 8xX B8=64
2X 9=18 5X 9=45 8x 9=72
3x 1= 3 6X 1= 9% 1= 9
3Xx 2= 6 6x 2=12 9x 2=18
3X 3= 9 6x 3=18 9x 3=27
3x 4=12 6X 4=24 SX 4=36
3x 5=15 6x 5=30 9% 5=45
3x 6=18 6X 6=36 9% 6=54
3x 7=21 6xX 7=42 9x 7=63
33X 8=24 6X B=48 9x 8=72
3x 9=27 6X 9=54 9x 9=81

2 RMITRRATABE 2617 » T C » Pascal » Cr+5 Java RA & - (10 )



i1 ‘PiEJv‘-%—iiL—l'

FA5BARLELA #8 s ERBS

CREES LN - F RS R

# 2

#£3 R
27. HF TR CETRANMTERESR - Q2 )

#include <«stdio.h>

int a;

int b(int a,int *c){
int *d;
d = &a;
(*c) +=(*a) ++;

} return a;

int c¢;

int main() {
c = 2;
printf ("a=%d,c=%d4,",a,c};
printf ("b(a,c)=%d\n", b(a,&c));
printf("a=%d,c=%d,",a,c};
printf ("b(c,a)=%d\n", b(c,&a));
printf("a=%d,c=%d,",a,c);
printf ("b(a,a)=%d\n", b(a, &a));

}

28. FHBETHCETRERAY "k, ¥4 (warning) R ss 3% (error) « (4o » &
LB R R L RER - ATHE - THRE L HPITHE R YE Y HERT sost Bk
ﬁ:’ﬂ]ﬁ*’“ﬁ’ HPMRATIEE D TR HIPRAE BTG S Aoy R -
AR RS EHEBRPRARAELE B Fs - (18 4)

#define _BSD SIZE T_ unsigned int
typedef BSD _SIZE T  size t;
void* malloc{size t size); /* prototype for malloc() */

void free(void * ptr); - /* prototype for free() */
int main() {

double *xp, *xcopyp;

Xxp =(double *)malloc (sizeof double);
*Xp = 49.5;

XCOpY = Xp;

free(xp);

*xXcopy = 33

;  /* for sizeof() */

(Co TR o+ I B )N 0 B PRI (G I
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29. TRR—EFERBHCETRAAK

#include <stdio.h>
void reverse str(char *s);
int main() {
char buf{100];
gets (buf) ;
reverse_str (buf}) ;
puts (buf) ;

}

~
ﬂﬁ%%ﬁ%T,,J#A—+$
A

abcdefg

gfedcha RS i

HUCETHE S reverse str() w'Jﬁi\é‘JP‘J& > (10 %)

#£3R



By P EREATZREESLHE - FRMP I ARRA
£REHE @ |

¥4 ~ o % /B #—F
ZEFR AKX |
— - BISEER (15404) |
- BREH LIRS TR UEHERPET RSN EEEES -
2LL 150 8 FR
(—>

TRHETT  REANB - HEEBE SAXR—E - EBMEE - TRLTo? PHEILR ML LG
HeoerBLE RPELE - FERGE > BTFAME - SEBSAL  RALOY - REHME - Bh
R - {FFH+AE)

(=) |

CRFREERES T RURAS > TUERT  UE B Tl o fs ; MAANBSE  TAAF R « BEEAR
SLESE UL SMMAY R —HL ] BN TAZ. A8y TERRY BETH 8 it
HBEY - BEWA N> RERNELE 2 4R B3 E AL | A R T K kg -
SEMAR BARS ARMARE 2 FEL? B  SABR - EREF ETRE:- | (ABEB)

1B - ({5 60 43)
PAFR—B - ana e
THERRAFANS MK ARL BRAER i b o HARE RBERAE - RooRz ¥ 5458
R ABMZEHAR? MRS RMLF 54 - bz BH
HER  TRERHEEWE  MREEREEErES AEEERETNEY > STR—-EEE (—%
ERULIFFMEEE ) REFRRL—EE > SR B A E TS .




BAXFERZANT=ZLFEL L - FRBL 404 E K5

B RIRBIBBAE W LG AR
B °F _ )
R BWMITAE > BRI BRI KEL24 P8 S

% 1 8 %] Bo#£2F

Fo—o: BEE (Feqr, 602, FAEER, HHBETIY)

Problem 1. A manufacturer estimates that when x units of particular commodity are
produced each week, the total cost will be

Cz) = %wz + 4z + 155

dollars and all units can be sold at a price of p{z) = 49 — = dollars per unit. What is the
price that corresponds to the maximum profit?

Problem 2. Find the average value of the function f(z) = ze®® on the interval [0, 1].

Problem 3. Find the length of the curve

x{y) = /Oy\/sec"t— ldt, —w/a<y<a/d

Problem 4. Evaluate the integral / / dydz

f1+:u

Problem 5. The base of a solid is the region in the zy-plane bounded by the y-axis and
the linesy = 1 -~ z, ¥y = 2z + 5 and z = 2. Each cross section perpendicular to the xy-plane
is a square. Find the volume of the solid.

Problem 6. Find the volume of the solid generated by revolving the region bounded by the
curves y = e~ and the lines y =0, z = 0, and ¢ = 1 about the y-axis.

Problem 7. Find all points on the curve » = 1 + sin  where the tangent line is horizontal.

Problem 8. Let f(x,y) have continuous partial derivatives and suppose that the maximal
directional derivative of f at the point F,(1,2) has magnitude 10 and is attained in the
direction from P, toward Q(3, —4). Find the gradient V f at the point Fy(1,2).

Problem 9. Find the local extreme values of the function

Flz,y) = 8% — 24zy + 1~
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Problem 10. Find the line integral .[c (2dz + zdy + ydz), where C is the triangle with
vertices (3,0,0), (0,0,2), and (0,6,0), traversed in the given order.

Fo3g AR 09, B9 LBO AT RBRR FHARELLE)

Problem 1. (54+5=10 points) True or False? If true, give a reason; if false, give a coun-
terexample.

(a) (5 points) Let 0 < R < oo be the radius of convergence of the power series D ealz—a)”.
Then, the interval of convergence is (a — R,a + R).

(b) (5 points) Suppose that ¥ a; is a convergent series of positive terms and {b;} is a
convergent sequence of positive numbers. Then, Y {(axbs) is a convergent series.

Problem 2. (5+5=10 points) Find linearization L{z, y) of the function f(z,3) =Inz+Iny
at the point Fy(1,1). Then find an upper bound for the magnitude |E| of the error in the
approximation f(z,y) ~ L{z,y) over the region R={ |z — 1/ < 0.1, [y~ 1| < 0.1 }.

sint |
—, if z#£0,
Problem 3. {10 points) Consider the function f(z) = *
1, if z=0.

(a) (4 points) Is f(z) a continuous function? Why or why not?

o0
(b) (6 points} Determine whether the integral f f(z)dz converges or diverges? Why or
1
why not?

Problem 4. (54-5=10 points) Sketch and describe the region R for the integral

25 2 /A2
/ f f dzr drdf, r2>0.
0 0 r

Then, convert the integral to spherical coordinates.
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